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Question Number : 1 Question Id : 4699751964 Question Type :

46997566
1

Online
Mandatory
60

60

60

Yes

0

1
46997579
Yes

null

MCQ Option Shuffling : Yes Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The ascending order of the numbers — 23,12, 0,—6,—100,—1 1is

e = 23,42, 0,-6,—100,—1 77

Options :
609757501, * — 10, 12,—6,—23,—100

4699757802. ¥ A,—1.~6, 12, =23,—~101

~ N, = d&,~8—=1, U 12

4699757803. ¢

4699757804. ¥ 100,— 23,12,—6,—-1, 0

Question Number : 2 Question Id : 4699751965 Question Type :

¥

o,

MCQ Option Shuffling : Yes Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

“The product of two consecutive positive integers 1s 30.” This can be expressed

algebraically as

-
- prons  fl e
_-"‘__rvl.;-’_*vlz-’,'l.'.lu/)v IG:-—;—’":"I

Options :

P - "} — & |
4699757805, ® X (X +2) =30

Vo2 P B TR el o W
1oy Qe 1= 300 b LlD =000y

=



- _ 'j e -
4699757306, % X (X—2) = 30

4699757807, % (x-3)=30

4699757808, v X (X +1)=30

Question Number : 3 Question Id : 4699751966 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The value of cos 48° — sin42° 1s
_.:‘_;,.J._:':!CDS 48° — sin 42°

Options :

4699757809. ¢ 0

o

4699757810. #

ra | =

4699757811, #

4699757812, # l

Question Number : 4 Question Id : 4699751967 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The compound interest on a sum of Rs. 2500 for 2 years at the rate of
12% per annum , if the amount 1s compounded annually 1s

- -

: - - P & -~ : ; - =
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Options :

4699757813, % RS. 366

4699757814, v RS. 636

4699757815, ® RS. 663

4699757816, % RS. 336



Question Number : S Question Id : 4699751968 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2 - . 3 ; : :
If the cost of ?Em of rope is Rs. 12 o then its price per meter is

= - "

. pA g ) R 2
W ned e & s 12 2 IR Py ?Em. 1
Options :

30
Rs. 2—
4699757817, % 47

18
Rs. 3 —_—
4699757818, % 25

61
Rs. 1 e
4699757819, ¢ L

16
Rs. 6—
4699757820, % e

Question Number : 6 Question Id : 4699751969 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If A= {x:xeW, 0 <x <6}, then roster form of set A is

= -

oF A A= {rixeW,0<x<6 }"§'

a

[

|
L
Options :

4699757821, % 0,1,2,3,4,5,65

ss00757822, % L L2304 O}

4699757823, ® {U’ l’ 2’ 3’ 4’ 5}

{1,2,3,4,5,6}

4699757824, ¥

Question Number : 7 Question Id : 4699751970 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The difference in the degrees of the polynomials 3x“y> + 5xy’ — x® and
3x° — 4x° + 2is

_-u_;j;;(Sxﬁ' — 4}{3 + 2;,”3}(2_‘5?3 + SX}'? — XE' J;J@/{?"’
Options :

7
4699757825. ¢ =
4699757826. ¥ 3

4699757827. ® l

4699757828, % 0

Question Number : 8 Question Id : 4699751971 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If H and L are the HCF and LCM of two numbers A and B respectively, then
.__.-:V:Tc]_(_'h’l »HCF Z B A.,_,'::ﬁ!: L.sH x:&l

Options :

4699757820, % AX H=LxB

4699757830, v AX B=LxH

4699757831, * A+ B=L+H

4699757832. * A+B=L-H

Question Number : 9 Question Id : 4699751972 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If the zeroes of the quadratic polynomial x* + (a + 1)x + b

are 2 and — 3,then
=328 xt + (a+ Dx 4+ bSs ZE 70
Options :

1699757833, * 4 = —7, b = =1



4699757834, % 4

4699757835, # 4 = 2, b =—6

d
4699757836. ¥

Question Number : 10 Question Id : 4699751973 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, a pair of inconsistent linear equations is
e Srbetslna$ Al AT 3

Options :

1699757837, ® 2X +3y =8&5x —4y =3

4007s7g3g x 20X T3y =98&x =8y =0

4699757839, ¥ 2x +5y =11 &4x + 10y = 21

4699757840, ® 3X — 4y = 6 &bx — 8y = 12

Question Number : 11 Question Id : 4699751974 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the vertices of a triangle are (3, 0), (0, 4) and (0, 0) , then its perimeter
(1n units) 1s

§x0 bt 20, 01310, 4)d(3, 0) 1L ek
Options :

4699757841, # 7

4699757842, ¢ 12

4699757843, # 7+v12

4699757844, ® i ﬁ



Question Number : 12 Question Id : 4699751975 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
AABC~APQR . If AB =3.6 cm, PQ = 2.4 cm and AC = 8.1cm, then the
length of PR (in cm) is

JPR _8.1cm =AC24cm =PQ.3.6cm =AB fr&ABCwﬂPQR

s
L e il | |
o0 O

Options :

4699757845. ¢ 5.4

4699757846. ® 4.4

9
4699757847. ® 5.2

42
4699757843, % 4.2

Question Number : 13 Question Id : 4699751976 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The list of numbers —10,—6,—2, 2, ..... 18

= —10 FE 6 !_2 ’ 2 y was ‘:"‘""J"’h-ll: A4l
Options :

an A.P.withd = — 16

4699757849, % —16 =d »A.P.

an A.P.withd = 4

4699757850, ¥ 4 =d »-A.P.

an A. P.withd = —4

4699757851, % —4 =d »-A.P.

not an A. P.

s
4699757852, ® AP,



Question Number : 14 Question Id : 4699751977 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
One of the roots of the quadratic equation x* —x—2 =0 is

Gz lifx2 —x—2 = 0z~

Options :

[

4699757853, #

td | =

4699757854, ¥
3
4699757855. ¥ =

4699757856. ® —2

Question Number : 15 Question Id : 4699751978 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A bag contains 5 red balls, 3 blue balls and 1 white ball. If a ball is
drawn at random, then the probability of getting a blue ball 1s

-
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Options :

1
4699757857, ¥ 3
2
4699757858. # 3
1
4699757859, # 9
5
9

4699757860. #

Question Number : 16 Question Id : 4699751979 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The ratio of present ages of Ramu and Mohan 1s 3 : 5. After 10 years, if
this ratio becomes 5 : 7, then the present age of Mohan (in years) 1s

-

U‘"I-!" y‘ 'I [J I:L'}.-": 5 : ?. -T-F""LT::".A}.!UILII‘EDJ —-—- S-—-F"’HL' I',"‘ "‘..r V‘-J-l\_:{ 'I"[.-’
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Options :

4699757861, ® 20

4699757862, ¥
4699757863, ® 50

4699757864. ¥ 25

Question Number : 17 Question Id : 4699751980 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the given figure, a circle touches all the four B
sides of a quadrilateral ABCD. If AB = 6 cm,
BC = 7cm andCD = 4 cm , then the length
of AD {m cm) 18

< U L ABCD 3 it B S

JAD —~dem = CD s 7em = BC «6cm = AB
NEVT NP

Options :

5
4699757865, % <=
4699757866, ¥ 3
4699757867, % 4

4699757868. # 5

Question Number : 18 Question Id : 4699751981 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If the perimeter of one face of a cube 1s 20cm, then its total surface area
4 =
(Incm’) 18

T W b S i Wl
barkemi g Ve 0 20501605 LIl s

Options :

4699757869. # 400
4699757870. # 600

4699757871, % 123

4699757872. ¢ 150

Question Number : 19 Question Id : 4699751982 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If the mean of the numbers 27 + x,31 + x,89 + x,107 4+ x, 156 + x is
82, then the value of “x’ is

S8 x" e 8269 27 + x,31 +x,89 + x,107 + x,156 + x./1
Options :

4699757873, ¢ 0
4699757874 % 1

4699757875. ¥ 1

4699757876, ¥ 2

Question Number : 20 Question Id : 4699751983 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Mohan gets 3 marks for each correct answer and loses 2 marks for each
wrong answer. He attempts 30 problems and obtains 40 marks. The
number of problems he solved correctly 1s

- -
; N - . 4 2 £ A
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Options :



4699757877. ¥ 10
4699757878, # 15

4699757879. ¥ 20

2
4699757880. # 25

Question Number : 21 Question Id : 4699751984 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Contact forces among the following are:

. oy -l. | 1 ' ks
"--""-.-:'0.-":: ¥ |'.:|!|'.'_- & J!-'I'Jl‘-"r:'h-".. !L:,.-'J
1. Tension
Al
1. Magnetic force
—~ b
o f 5 L
111. Normal force
..-.-E,"l.-;
iv. Gravitational force

ok P
— e

Options :
4699757881, ¥ L1V

4699757882, % 11,111

4699757883, ¢ 1:111

4699757884, % 11,1V

Question Number : 22 Question Id : 4699751985 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



AY

Resin identification code CGJ indicates

BN
i:__t-/I/TE CQ ::'/U‘JLL‘Q":;
Options :
PVC: Polyvinyl Chloride.

e y
A8 g dsd

4699757885. ¥
PET: Polyethylene Terephthalate

4699757886. # i

HDPE: High-Density Polyethylene

Ly bsea 0 1 10 38
“-:".:.l-/[!'-"_'L_IQI 'VIL;‘;V"'E-’I

4699757887. ¥ N
LDPE: Low-Density Polyethylene

4699757888. #

Question Number : 23 Question Id : 4699751986 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Earthquake 1s caused due to the disturbance deep inside the earth’s

- i
. ] -

L S ola L i -

e ¥ ,I:L,wc_,.«;:!v‘u o LIV L )

Options :
Core

.

4699757889, %  Jf

Crust

4699757890, & =7

Mantle

P‘:A
4699757891. % et



Inner core

*
r
[ ]

w | %

A2 L,-JALI

4699757892, ¥

Question Number : 24 Question Id : 4699751987 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The reason for appearance of mirages is

£ e !—_-'r :-‘/1-._— f:‘/fl-:-'; .;::..._.-ld_"'-
Options :
Reflection

4699757893, % e
Refraction
4699757894, % — e

Dispersion

r';.[

4699757895, % =

Total internal reflection

-

AT ST ¥
Ball 80 L1
4699757896, ¢ ST R

Question Number : 25 Question Id : 4699751988 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is called morning star?
L L0 KT LU o as
Options :
Pole star
LY

4699757897, % AU

Sun

4699757898, ® &4¥



Mars

;" Fal
4699757899, & ¥

Venus

J

4699757900, ¢

Question Number : 26 Question Id : 4699751989 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Homogeneous mixture among the following is

| r:'_:‘,» N
Y AIVE gV

Options :
Sugar in water
‘E

o
7T U0k

4699757901, ¥

Sand in water

- I
e Ok
4699757902, % R

O1l in water

sl
L a4

4699757903, #

Sugar in salt
4

-

R -
4699757904, ¥ s

Question Number : 27 Question Id : 4699751990 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is a chemical combination reaction?
bims o
< SWEI20
Options :

CaCO, — CaO + CO,
4699757905, ® ; 3



1609757006, v CAOTHO  —  Ca(OH), + Q

Zn +2HC| — ZnCl, + H,
4699757907, ® - I

NaOH + HCl — NaCl,+H,0
4699757908. ® - -

Question Number : 28 Question Id : 4699751991 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following substances that used in our daily life is acidic in
nature?

&

o

0 “"oow | i I (T U . I T T

'LU ;‘;_,'u--:_’j'ud.—;}'fa__f-ula‘*"'uuv“ J".—':',-"".-'-'.-'J.Jﬁ" iad T -'L:r.-’a'
!

Options :
Milk of Magnesia

R T
4699757909, # "

Distilled Water

4699757910. ¥ CLad

Lemon Juice

el /
4699757911, ¥ ORLES

Baking Soda

38 ?{.
4699757912, ® Mg

Question Number : 29 Question Id : 4699751992 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a byproduct of Petroleum?

Options :



Kerosene

e A

-
4699757913, & W7 = S
Paratfin Wax

4699757914, % &

Lubricating Oil

AP
4699757915, % o ol
Coaltar
J'CJ.!’I/

4699757916. ¥

Question Number : 30 Question Id : 4699751993 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Change in the direction of sunrise between winter and summer season is

- o

| T i = r i Fail o o
Q& S Qe n Ll nd s sl sy

i.  Permanent Change

e
A

ii.  Temporary Change
&S
1. Natural Change
G#GH
iv.  Manmade Change
G &Gt
Options :
4699757917, % 1+ 111

4699757918, v 11+ 11
4699757919, ® 1, 1V

4699757920, ® 11, 1V



Question Number : 31 Question Id : 4699751994 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The tissue that responds to e

-
e [
b

Options :
Muscular tissue

i iagp
H":U‘Ll’ﬂ

4699757921, ¥

Nervous tissue

i
4699757922, =G

Connective tissue

=L (5 s
4699757923, # .

Epithelial tissue
SR
4699757924, ¥ =V

ternal and internal stimuli is

ra '\ - = e -
gl fus;»b:l.,_:.;bz XY

Question Number : 32 Question Id : 4699751995 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the Incorrect pair from the following

« I/ e F‘
- - 1 - -y
=SB OES L 30

Options :
Platyhelminthes

4699757925. % ¥

Echinodermata

| & _"': "y
|~ Ry ".‘;'| -

4699757926. #

Arthropoda

a4 ’?JT
4699757927, % =7

Dorsoventrally flat body

-

e :.Jz' rl [;
(N80

A

Spiny Skinned animals

- LT
Hed e sk

Jointed legs

9, *_L... Ve 7



Nematoda - Segmented worms

= il -
3¢l = e il ai?

4699757928. ¥

Question Number : 33 Question Id : 4699751996 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who published the * RED DATA BOOK™ ?
Jt:‘fLi.;'_,-"#‘ RED DATA BOOK’

Options :

]
4699757929. # ICBN

4699757930, ¢ TUCN

4699757931, % 1CZN

4699757932, ® WWE

Question Number : 34 Question Id : 4699751997 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following and identify the correct option

-
= ~ ) P

i sias Lo - A

=t APy Jl:ﬂ" o A f_,_-" 6 i¥

A. Budding (1) Paramecium
a ":..J!'
P o

B. Parthenogenesis  (i1) Yeast

o
L,;'r‘-:' “ a':'ﬂ & — |
C. Regeneration (111) Honeybee
A S oA
D. Fission (1v) Planana
S LAl

Options :

4699757933.%A'm B-(i1) C-(11) D-(iv)



A-(11) B-(iv) C-(iin) D-(1)

4699757934, #
4699757935, ¥ J‘%—{li} B—[ili) C—(i\’) D-(l]

1699757936, * A-(1)  B-(iv)  C-(ii)  D-(i1)

Question Number : 35 Question Id : 4699751998 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
[dentify the bacterial disease in humans

— -~ g
5 e ] b e e
a:"— CAEO J"l':"-.:_l':, ,C‘&:V'“UI-’IL"I

Options :
Diptheria

L,
4699757937. ¢ C

4699757938, % w3
Encephalitis
4699757939, % o

Mumps

o
4699757940. # “*

Question Number : 36 Question Id : 4699751999 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[dentify the trophic level of the snake in the given food chain
Grass— Insect — Frog — Snake — Eagle

. e
5o liss 4 2

e i s . ;|
et A —_——

— -~ -
e | 1 #a® . L
_;':“ (FLE S EVIIS P S-S
> . i 5 P
VL:T l-_-.-r_Lf --'.-A":"_h—d ‘—vr'w

Options :



Secondary Consumer

-

4699757941, % Aol

Tertiary Consumer

L

4699757942, ¥ Soig i
Top Carnivore

T I L 5
4699757943, ® A ="2SU

Primary Consumer

n—-f:x'u-;' :J"v;'
4699757944, % s

Question Number : 37 Question Id : 4699752000 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the protein digesting enzyme from the following
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Options :
Sucrase
e
4699757945, % Ao
Lipase
f*-_-: 1
4699757946. ® &< °
Tripsin

-

o
4699757947. ¢ e =

Ptyalin
K
4699757948, % v

Question Number : 38 Question Id : 4699752001 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Culture of Honey bees 1s called

- |'-r " il ; |’
u:rﬁi-fl./vblﬁ-uf‘ A
Options :
Horticulture
4699757949, % ’zé /\
Apiculture

/fér

4699757950. ¥

Acquaculture

EK | 3'?

4699757951, #

Pisciculture
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Question Number : 39 Question Id : 4699752002 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT sentence from the following
AU ST Y S TN
Options :
4699757953, ¥
Continuous cultivation of the same crop leads to imbalance in the fertility

of the soil

o - P 3 =
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Planting of non- native crops is known to be beneficial for soil
conservation

4699757954. ¢

Earthworms enhance the availability of macronutrients in the soil

1 S S e S
4699757955. # ALy Q0 U 2L/ P RS



Tilling of soil can lead to loss of organic matter and death of
microorganisms in the soil
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4699757956. #

Question Number : 40 Question Id : 4699752003 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Experiment given in the picture illustrates
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Options :
Heat evolved during respiration

ZAP I sl Ficllpnd o F
4699757957, ¥ = K

Release of Oxygen in aerobic respiration

a g

- v AT
. i h[!.-
4699757958, ® 4 i

Release of Carbondioxide

a A : bopi
4699757959, % CN7 LD A

Carbondioxide is necessary for photosynthesis
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Question Number : 41 Question Id : 4699752004 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
All the urban areas having population between 5000 and 1 lakh are called as
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Options :
Cities [/ Class | cities
= - ‘/ F-4
fa i e
4699757961, % Y2 VE)

Towns

4699757962. & &
Revenue / Census Village
4699757963, # SIS 54

Hamlets
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4699757964, #

Question Number : 42 Question Id : 4699752005 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify true statement related to Mesosphere

.-ﬁ -

e
d'..._g_,. ALr—' \ 'L £ u‘u’- 4._.-*/.,_,"'

Options :

4699757965. #

This layer 1s almost free from clouds and aﬁsociated weather phenomenon
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[t contains ozone layer.
1 - Untul B |
4699757966, % I LpE LU AU L]

Most ideal for ﬂyinﬂjet aircrafts.

edniunrl Zonluilzes
4699757967, % WL =

Temperature starts decreasing with the increase in altitude.
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Question Number : 43 Question Id : 4699752006 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In a map contour lines join the places having equal

el ok e # s [ - s & L - .;'!'
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Options :

Heights

:ul_::"gl
4699757969, ¥ < F

Temperature

LI Py

4699757970. #

Rainfall

A

4699757971, %
Snow

4699757972, % =4

Question Number : 44 Question Id : 4699752007 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The following is Not the tributary of River Godavari
b
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Options :
Kadem

-
R
= A0

4699757973, ® s

Dindi

'l
[}

4699757974, L&

Manair

4

4699757975. ¥



Manjeera
F_:L«

4699757976, % o

Question Number : 45 Question Id : 4699752008 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In these forests the trees are adapted to salt waters and the flow of tidal
waves
P sk Tlr’fg.:,.,_,'s/_-'j;;f:,usldlr_»_-,’f'; =3 ke B
Options :
Thorny Forests

¥
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4699757977. # e L S e W

Evergreen Forests
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4699757978, % B2 A tar

Deciduous Forests
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4699757979. ¥ ’

Mangrove forests
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4699757980. ¥

Question Number : 46 Question Id : 4699752009 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which are the special target groups in Antyodaya Anna Yojana?
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Options :
All White card holders

L2 KT as el
4699757981, % ST



Poorest of the poor

5 :
B
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4699757982 ¥
Poor
4699757983, % T

All the people
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4699757984, #

Question Number : 47 Question Id : 4699752010 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following comes under service sector?
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Options :
Fisheries

o
4699757985, % e

Sugar Manufacturer
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4699757986. #

Dairy Industry

-y L0
4699757987, % o

Milk vendor

s &2 239

4699757988. ¥ -

Question Number : 48 Question Id : 4699752011 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
National Institute of Nutrition (NIN) is located in
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Delhi

Y,
4699757989, ¥ ¥~

Kolkata

4699757990, ¥ =¥

Hyderabad

A FJ “1'.-'}

4699757991, ¥

Mumbai

4699757992, ® i

Question Number : 49 Question Id : 4699752012 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Balancing the use of resources and also conserve them for future
generations 1s called
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Options :
Development
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i e

L >
4699757993. #® e i3t

Devaluation

P
P AR 7
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4699757994, ¥

Sustainable development
Y- b

[
4699757995, ¥ AL Nl

Destruction

S,

4699757996. #

Question Number : 50 Question Id : 4699752013 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



(number of births + number of in-migrants) — (number of deaths +
number of out- migrants) inclicate‘;
- {-rwgu':r~;_u~=../_ At Gud Syl T2 .f"f_-,/i""-+:r.~§£:-jl,_+;_.)
Options :
Population change in a p]ace
4699757997. ¢ “‘t S TOrES

Density of population in a place

ST
4699757998, ® miiiaie i R

Death Rate in a place
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=17 / h‘
4699757999, ¥ v el

Working Population in a p]ace

4699758000, % ST 7

Question Number : 51 Question Id : 4699752014 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The lower house of the German parliament is called as
M Sy oLl s L2

Options :

Reichstag

I I"*:“,-
4699758001, ¥ =

Diet
4699758002, % =13

Bundestag

Z
(RS -
4699758003, ¥ -

Senate

4699758004, ¥ =%



Question Number : 52 Question Id : 4699752015 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The principal author of Declaration of American Independence is

e et AL LTS T

Options :

Louis XVI

.i ‘|
4699758005, # XVI ¢

Charles-1
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b
4699758006 # voE

Christopher Columbus
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4699758007. # WSS

Thomas Jefferson

S A
4699758008. ¥ AP

Question Number : 53 Question Id : 4699752016 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify False statement related to the H\,fde rabad State Bank
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Options :
It was founded by the Nizam

_ g
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4699758009. #

It worked as the state’s central bank

ze“h I-JJ' r "j :-If -’, = J
4699758010. ¥ AL PPl Sl

Managed the Osmania Sikka, the currency of the Hyderabad state.
BeS P <L 78 TS T e
4699758011, % ! &



The Hyderabadi rupee, was same as the rest of India.

4699758012 v L'?"/I.:' L”} é_--lv; ;’I J' Vlln:' !_4\:‘:,.,._3;:‘ :.::!J'j J'L F.J-t"‘}

Question Number : 54 Question Id : 4699752017 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following in chronological order

B S s NBIE
A) Rudradeva
|_€:j|_:'i‘_.’|__f
B) Ganapati Deva

[_‘.:' 2 L__.‘-':'-

() Rudramadewvi
J{I JL A3
D) Prataparudra - II
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Options :

4699758013, # AC ‘BD

14699758014, % - B, C, A

4699753015, ¢ A B, C, D

4699758016. # C.B,D.A

Question Number : 55 Question Id : 4699752018 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The English defeated Sirajuddaula, the Nawab of Bengal in
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Options :

The Batile of Plassey

4699758017. ¥ I



The Battle of Buxar
N

4699758018, # E

The Battle of Afghan

S
4699758019, % .

The Battle of Panipat

4699758020, % e

Question Number : 56 Question Id : 4699752019 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify False statement related to the Constituent Assembly

S e 5 ks
Options :
4699758021. ®

In the beginning, the Muslim League members did not attend the meetings
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In all it had about fifteen women members in Constituent Assembly.
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Members were elected through universal adult franchise
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4699758024. ¥
Seats were allocated based on proportion to their respective population.
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Question Number : 57 Question Id : 4699752020 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
As per the Indian constitution, Abolition of Title is the part of
e 2EUIS 9 5l £ s 53044

Options :



Right to Equality

el P
4699758025. ¥ =l

Right against exploitation

TS e
4699758026. ¥ = e

Right to freedom
N T

%
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4699758027,

Right to information

£ LJ-I-"I'H?
4699758028, % A

Question Number : 58 Question Id : 4699752021 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The person who launched Champaram Campaign is
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Options :
Sarojini Naidu
‘_7’

4699758029_ ® !.-‘_": Lu' !'._»-'

DurgabaiDeshmukh

ol :. & G
4699758030, % P 97

N.G. Ranga

G fer
4699758031, # g

Mahatma Gandhi
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Question Number : 59 Question Id : 4699752022 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify FALSE statement related to Speaker of the State Assembly

Z 5 fukst 3 = S LE G
Options :
All the MLAs together elect a per%on as the Speaker

4699758033, # c—~/-f' ,,..vr, Pt bl

The Speaker conducts the Assemb]v meetings

4699758034, % e/ i L5 I

The Speaker is responsible for controlling the flow of House business
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4699758035, # : ik /u ya *Iv.

The Speaker is not an elected MLA

4699758036. ¥ g ufufu A1y .5‘?:? i

Question Number : 60 Question Id : 4699752023 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify Correct statement related to Gram Panchayat

-l 2 , &

S E0uLl U e sdirl/
Options :
The sarpanch is elected indirectly

SN
4699758037. % el gb e ARG,

4699758038. ¢
The sarpanch and ward members elect one of the ward members as the
deputy or upa—sarpanch
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4699758039.
Gram panchdyats have no power to levy some minor taxes in the w[lages
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4699758040, #

The annual plan of the panchayat is prepared and discussed in the Zilla

Parishad
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Teaching Aptitude
Section Id : 46997567
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 46997580
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 61 Question Id : 4699752024 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Why do you want to become a teacher?

o o | et i pa =
e |

Options :
It is a stress free job
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4699758041, #

Your parents desire
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4699758042, ®

You are interested in 1t

ad -

=
Y

i
—_— e A
i

‘Vl""'u-"’ I!h:_-""

4699758043. ¢



Easy to get job
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4699758044, ¥

Question Number : 62 Question Id : 4699752025 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The full form of NEP 2020 1s
FH INEP 2020
Options :
National Education Prowr'mmle 20"[1

"0"0«'| Jopor® f‘"
4699758045, *

National Education Policy 2020

| i ka
20205+ % &S
4699758046. ¥ SRSV LI,

New Education Policy 2020

I &/ = =
20205=L = f14
4699758047, % )

Nation Education Programme 2020

4699758048, % 2020717 54 =

Question Number : 63 Question Id : 4699752026 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Women teachers are preferred in primary schools because
e Utaddul i B U6 A
Options :
They do not punish students
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4699758049. ¥ e L X RT R

Women teach better than men
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Women teach with patience
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4699758051, ¥ SOk L~ h 1P
4699758052. ¢
they help students to overcome ‘separation anxiety’ of being away from

their mothers
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Question Number : 64 Question Id : 4699752027 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A plan of action prepared by a teacher for a class and period to achieve
the desired objectives is
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Options :
Unit plan

oLk E;ﬁ
4699758053, el

Lesson plan

JLEOT
:

4699758054. ¢+  ~

Teaching plan

| '::J "l
4699758055, % -k

Project plan

'Il.){"l-L-"'L:;\I..-”'
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Question Number : 65 Question Id : 4699752028 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The most effective learning is
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ICT enabled learning

~ .

4699758057. #

Experiential learning
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4699758058. ¥

Individual learning
LSt P

4699758059. #

Group discussion
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Question Number : 66 Question Id : 4699752029 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The effectiveness of learning depends upon
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Options :
Effective curriculum
;;_..-L.u:' i

4699758061. #

Effective methods of teaching
mIES PIY

4699758062, e

Effective discipline
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Effective textbooks
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Question Number : 67 Question Id : 4699752030 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Teachers become popular among students, when they
Options :
Friendly with them

4699758065, % HE Iz nFl L)

Teach extra classes
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4699758066. *

Help them solve their problems
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Award good grades
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Question Number : 68 Question Id : 4699752031 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Education is a Tri-polar process. What are they?
?u::.‘fr;*'-“"'—ulji.}'i‘} “'Ji:.f[/:'u“
Options :
Teacher, student, principal
};"',«;-“* Woealni
4699758069. % =
Teacher, student, parent
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4699758070. * GL XIS ety
Teacher, student, surrounding environment
JPW A1 bl
4699758071. ¢
Teacher, student, community
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Question Number : 69 Question Id : 4699752032 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Teacher’s relationship with students should be
Zbtn ™ AL

Options :

Friendly
4699758073, ® <l

Empathetic

4699758074, ¥ N4

Strict
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4699758075, % /=

Punitive
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4699758076. ¥ S

Question Number : 70 Question Id : 4699752033 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In 21st century, education focuses on development of
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Options :

Social learning

-~ -
k|
R L.,.

l-:-rv A

4699758077. #

intellectual learning
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emotional learning
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socio-emotional learning

e N, =
— 0L A O

4699758080. ¥

Question Number : 71 Question Id : 4699752034 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A teacher should have
Zlbn L LIL]
Options :

Values

JI,J.”

4699758081. #

ICT expertise

3
= MO0

T

L ity

4699758082. #

Competencies and skills in teaching
"‘:::?IL_f,J.",[ e | u:‘J- G
4699758083, ¥ . b i

good physique

% Lq,,:' ..r*-.‘,_;{ i

4699758084, #

Question Number : 72 Question Id : 4699752035 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
To improve the quality of education, it is necessary to

e unf gl Lt hr E 2~
Options :
To evaluate students continuously

4699758085, ¥
revise curriculum

4699758086, % ~ —F© ot~ L



provide good infrastructure

RRIE) Py 1)
4699758087. % ey (i A

recruit teachers

- i ‘:T./’ .
Vel 17 1%

4699758088. #

Question Number : 73 Question Id : 4699752036 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A student learns better 1f ;
_,J.f_:@E: ,;;,‘b,.."f.’/“__x'u?.g?
Options :
Given strict coaching

IS
4699758089, % o iy

respected for his achievements

1 P i -/IL:
N VAL

4699758090. ¥

punished for his errors

ol I i Fo
& af e Ny
Ul

<Ll v

4699758091. # '

taught in his mother tongue

-

-; A LF“ P a
4699758092, % L CHEVAO S

Question Number : 74 Question Id : 4699752037 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Broadly education means development of

-~

;p!g;ifuwl:lrfa./ﬁai{;:bj;
Options :
Human intelligence

=L
4699758093, % s



human resources

2, FJ.'LJI
4699758094, ¥ =

good human beings

4699758095, % L

human activity
i';'p_; +:.L___-'|
4699758096. % e

Question Number : 75 Question Id : 4699752038 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The learning which is a result of drawing inference in a class by the
student is

-
-

= [ A i ok [ ~ # it i -
u"-_-Lf:,_,» Uvr:_,‘.i‘ e e " .E"I'-G__--I_,aLJ‘VI' U'u;!Lz?_‘HJLr.;—.-fllﬂf?l—:ﬂr" LY

Options :
Creating
[ .-‘::"
PR

s %
o~

4699758097. #

Remembering

-
|

U sl
4699758098. # "

Applying
S

4699758099. #

Analyzing
L'/:#.. x‘?
4699758100. ¢ =

Question Number : 76 Question Id : 4699752039 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The meaning of education 1s

-
- ]
- Ia‘}._«’" l;/:b



Options :
Learning

-~

4699758101, % e

modification of behavior

~'-' i o
4699758102. ¥ OLA L2l
acquisition of skills
l:'@JE-J’I/ I,:.IJLP’
4699758103, % U

knowledge
P2
4699758104, #

Question Number : 77 Question Id : 4699752040 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
For a teacher, the important challenge 1s

L
s"ulf*.* e

_-:__._-_, l»‘»rc;"_ld;:L'f—l.__é,:jl
Options :
Complete syllabus
CLE

i -
L.‘ W I,._,:I—“--'L--"l’l

4699758105. #

conduct examination

|.“,'HA'£:.:/‘ . ILf-":‘[
4699758106, % e 5

maintain discipline in the class

o~ -
-

B e s -
A5 3 =t
4699758107, % UL P EE

to make learning process enjoyable

L-L::-“v‘ff :_.-:f,_ff.,_,s: r-ﬂ

4699758108. ¥

Question Number : 78 Question Id : 4699752041 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which of the following i‘; not correct?

a5
Y (O d ifu 32
%

Options :

Education for life

-___.,

e

.
|.
f".—'i—— FA

4699758109. #

education through life
| o ":;o+ L;-:

S paid
4699758110. % . .~

education thloughout life

v
4699758111. *

education for job
s

-FI
d..r!q-—-

4699758112, ¢

Question Number : 79 Question Id : 4699752042 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

National Talent Search Exam 1s conducted by
P — |'-' -y ik "':H.
R Ut YR

Options :
UGC — University Grants Commission
T T
et r |,I ?,.- r‘.-
4699758113, % ™l R

NCERT — National Council of Educational Research ancl Tl‘aining

Gr ka9 L-"” L-’ ]r"b
Lk __f*.,
4699758114, ¢ G

NCTE — National Council for Teacher Eclum[iﬂn

*,»"Lff/b[ .,_:F;
4699758115, %



UPSC — Umion Public Service Commission

-'&-:i Fa .-"__j::- .r; Iy
L L e
4699758116, ® = ~

Question Number : 80 Question Id : 4699752043 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
How do you deal with a student disrupting others?
..-.’_.l.".g"’l,:-;‘...,-i'j'}.-.’;_l_ {.:r\_,l ' s:ﬁ:ﬁ_,ﬁ:i‘::, 4 ;_f:'_'.r " — b V'l__:eF
Options :
Detention

-

4699758117, % & 240

Warning
5 (7 -
4699758118. ¢ T F

Scolding

. |". bt

A
4699758119, #

sending out of class

Lo/ e JF

4699758120, #

General English
Section Id : 46997568
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 46997581
Question Shuffling Allowed : No

Is Section Default? : null



Question Id : 4699752044 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (81 to 85)
Read the passage given below and answer the questions that follow (81-85)

Why do people from different cultures sometimes have misunderstandings or
conflicts? Because they can interpret the same thing differently. Some
behaviours that are polite in one culture can seem rude in another culture.
Clothing that is very nice in one cultural context can be entirely inappropriate in
another.,

Gestures and actions take on symbolic meaning when interpreted through a
cultural lens. Greetings, for example, vary widely from culture to culture. How
should you greet a particular person? Do you shake hands? Wave? Give a kiss
on the cheek? Is a hug appropriate? Do you bow? The rules vary widely around
the world. Interculturally competent people will adjust their behaviour
according to the context they find themselves in.

Greetings are fairly formulaic. The right way to greet different kinds of people
can usually be described in a few rules. Other cultural differences are more
general and are the result of differences in values. We must take note of one
such difference: the difference between high-context and low context cultures.
As you will remember, most cultures in Latin America, the Middle East, and
Asia are high context cultures,

For each of the following questions, choose the best option

Sub questions

Question Number : 81 Question Id : 4699752045 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What according to the author 1s the reason for conflict? (line 1)
Options :

1609753121 » Different interpretations

1699758122+ Different cultures



4699758123, ® D] ffE'l‘EI][ bE‘hHVi\Dl“'ﬁ

1699753104, % Different opinions

Question Number : 82 Question Id : 4699752046 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What does it mean by “Gestures and actions take on symbolic meaning
when interpreted through a cultural lens™? (line 5)

Options :

4600758195, % People should use different lenses for different gestures

4600758 126, % People’s behaviour is judged based on their actions

People’s behaviour should be understood in terms of culture
4699758127. ¢

1600753105, % estures and actions have to be interpreted symbolically

Question Number : 83 Question Id : 4699752047 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
On what basis do the interculturally competent people adjust their
behaviour? (line 9)
Options :

j - 5 ") 'L"
4609758120, % COmpetency of others

4699758130, % Others behaviour

4699758131, % Others culture

o & LV‘
4699758132, ¥ The context of the behaviour

Question Number : 84 Question Id : 4699752048 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



According to the passage, why are greetings formulaic? (line 10)
Options :

4699758133, % Because greetings need formulas

4699758134, % Because greetings are formal

Because culture is rigid
4699758135, ¢

4699758136, % Because greetings have some rules

Question Number : 85 Question Id : 4699752049 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What values is the author referring to in line 127
Options :

400758137 Differences in the way people use context for culture

1699758138, % Y alues of people living in different countries

Cultural differences of people
4699758139. %

4600758 140, % Value of greeting other people

Sub-Section Number : 2
Sub-Section Id : 46997582
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 86 Question Id : 4699752050 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :
The 1diom ‘to drive home™ means
Options :

ind one’s root
4609753141 % L0 find one’s root

4609758142, % DACK to original position



4600758143 L0 Teturn to place of rest

4699758144, v © emphasise

Question Number : 87 Question Id : 4699752051 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
He gave a talk the effects of using plastic. Fill in the blank with
correct preposition.
Options :
4699758145, % Wit

4699758146, ¢ Ol

4699758147, % 101

4699758148, % O

Question Number : 88 Question Id : 4699752052 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Pick the most suitable word to complete the sentence.

One who abandons his religious faith is called

Options :

4699758149, v ApOstate

4699758150. # prORIOIE

-j ‘; -
4699758151. # B Fang

4699758152, % AgNOSIC

Question Number : 89 Question Id : 4699752053 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Fill in the blank with appropriate verb form.
[ was very happy that she my dress so nicely.

Options :
.". B e - o
4699758153, % will be stitching

4699758154, % Stitches

4699758155, v Stitched

4699758156, % will stitch

Question Number : 90 Question Id : 4699752054 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Her finicky attitude was the main reason for their fight.
Meaning of the underlined word 1s

Options :
fuss
4699758157, ¥ y

4699758158, % Nasty

4699758159, % cruel

4699758160, % Smart

Question Number : 91 Question Id : 4699752055 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“What time should we leave for the meeting?” The sentence is

Options :
4699758161, % lmperative

4699758162, % exclamatory



4699758163, % assertive

4699758164, v 1DlEITOZALIVE

Question Number : 92 Question Id : 4699752056 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The manager frowned at the employee. The passive voice of this
sentence 1s

Options :

4600758165, % The employee was frowned by the manager.

The employee was being frowned by the manager.
4699758166. *

1600758167, % The employee was being frowned at by the manager

The employee was frowned at by the manager
4699758168. ¢ - - '

Question Number : 93 Question Id : 4699752057 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ravi told me, “T will watch the film Kantara tomorrow.” The reported

speech of the sentence is:
Options :

1699753160 * Ravi told me that he will watch the film Kantara tomorrow.

4600758170, « Ravi told me that he watched the film Kantara the next day.

1609758171, ¥ Ravi told me that he would watch the film Kantara the next day.

1609753172 % Ravi told me that he would be watching the film Kantara tomorrow.

Question Number : 94 Question Id : 4699752058 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the grammatically correct sentence.
Options :

1609753173, % 1 asked her for chocolates, but she didn’t had any.

4600753174, % | asked her for chocolates, but she didn’t had none.

409753175, % | asked her for chocolates, but she didn’t have none.

I asked her for chocolates, but she didn’t have any.
4699758176. ¥

Question Number : 95 Question Id : 4699752059 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The train was nearly full so it was difficult to . Fill in the

blank with appropriate phrasal verb.
Options :

cet in
4699758177. ¢ <

get on
4699758178, #® <

getu
4699758179. ® = P

" ;
4699758180. * get with

Question Number : 96 Question Id : 4699752060 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the correctly spelt word.
Options :

4699758181, % Adverisity

4699758182, * Advercety

4699758183, v Adversity



Advercity
4699758184, % .

Question Number : 97 Question Id : 4699752061 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the antonym of the word ‘talkative’?

Options :

4699758185, # C hilﬂ‘_\j

4699758186 v Sllent

Judee
4699758187. % =

4699758188, % lmmense

Question Number : 98 Question Id : 4699752062 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Mangoes are usually than bananas.

Options :
4699758189 # IMOTE sweeler

4699758190, % IMOSt sweet
4699758191, ¢ Sweeler

4699758192, % Sweelesl

Question Number : 99 Question Id : 4699752063 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The principal’s to conduct the supplementary exams within
fifteen days made all the students very happy.

Options :

4699758193, % ascent



4699758194, % ascend
4699758195, ¢ assent

4699758196, ¥ dccent

Question Number : 100 Question Id : 4699752064 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What kind of films

Options :
4699758197, % does Mahima likes

4699758199 % Mahima hke

'\,5 - i s = r_—.
4699758200, ¥ does Mahima like

General Knowledge and Educational Issues

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear
Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Question Number : 101 Question Id : 4699752065 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

46997569
4

Online
Mandatory
30

30

30

Yes

0

1
46997583
Yes

null



The theme of the International Women’s Day 2023 is
< &#62023:5 157y
Options :
Digit All : Innovation and technology for gender equality
172 £

4699758201, ¥ el 5T S sl g TR

Gender equality today for a sustainable tomorrow

bLl- A - ;’i
P PICI T W
4699758202, % N

4699758203, *
Women in Leadership : Achieving an equal future in a COVID-19 world

An equal world i1s an enabled world

e L@y fsls
4699758204, # — R

Question Number : 102 Question Id : 4699752066 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
*“ RRR” Movie has won the Oscar award in the category of

"‘:-“'F Vo e Iy
wd LR a7 RRR” &
Options :
Best Music Director

sy hs (s oA
4699758205, ® S /S ant A

Best Lyricist

_,-I"!/l_-_'_,d'ﬁ-r .;-4:
4699758206, ¥ T =M

Best Singer

.-"{'-r 5// i ;ff
4699758207, % -



Best Original Music

4699758208. ¥

Question Number : 103 Question Id : 4699752067 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
According to the new Indian income tax regime 2023-2024,
“r‘f«% tax hem to be pmd Lw those whose income is hetween

Options :
Rs. 6 Lakhs to 9 Lakhs

4699758209, % el 1941 6

Rs. 9 Lakhs to 12 Lakhs

4699758210, % el 4012419

Rs. 3 Lakhs to 6 Lakhs

4699758211, ¢ Wl U613

Rs. 12 Lakhs to 15 Lakhs

4699758212, % Wl 50154112

Question Number : 104 Question Id : 4699752068 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The gas that 1s mostly filled in fire extinguisher is

o . S

AT drfdl:’j,ﬁx o " ;_,;:_,f:.'}wf}'j
Options :
Carbon dioxide

4699758213, ¥ RIS

Oxygen
=1

4699758214, % -



Carbon monoxide

e
P 4

4699758215, % LA o 8

Hydrogen

} -
o

&

4699758216, #

Question Number : 105 Question Id : 4699752069 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Bhupen Hazarika was awarded Bharath Ratna for his contribution to

U'I;b
Options :
Music

e g

4699758217. ¢ ¥~

Painting

4699758218, # -

Sports

F:IJJ":‘I
4699758219, ® ~ °°F
Literature

o
=

4699758220. #
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Question Number : 106 Question Id : 4699752070 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

India’s rank in children climate risk index 1s

ol e e T
-‘:__-l_-l-;‘:JE\_',L-‘!Mu'qv- o N

Options :

4699758221, # 14

4699758222, ¥ 13



[
h

4699758223, % -

I
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2
4699758224, ¢ -

Question Number : 107 Question Id : 4699752071 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The indigenous Indian Navigation System developed by ISRO is

e T I RS S e e STSRO
Options :
HYSIS
it

A

4699758225, %
NavIC
4699758226, & =¥

RISAT

k
-fIV’J

4699758227. ®

GSAT

4699758228, % =—vU

Question Number : 108 Question Id : 4699752072 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Washing Machine works on the Principle of

I B ,.,‘."-‘-‘ —’-’

[g*

g
Options :
Centrifugal force

4699758229, ¥ L

Gravitational force

L
22 Py
[T A

4699758230, % =rou Y



Centripetal force

.3 b
4699758231, # =Y )

Kinetic force

-
o~
&

4699758232, % ik

e

Question Number : 109 Question Id : 4699752073 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The full version of Indian National Anthem shall be sung or played in
approximately

- i -l =i r |..-";'r
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-
ot

L
p_;lf._;_*‘
Options :

45 seconds

4699758233, % A~ 4D

52 seconds

o 5
4600758234, A7 D2

30 seconds
&30
4699758235, #

60 seconds

4699758236, %+~ 60

Question Number : 110 Question Id : 4699752074 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Indian railway protection force uses the robot named captain

o
- o ]
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Options :
Arjun
s

oy
4699758237. ¢ ¥



Rail
L.—'
4699758238, ® -

Rakshak

&

4699758239, # —

Veer

|

4699758240, ¥ ™

Question Number : 111 Question Id : 4699752075 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Cheraw folk 1s a traditional cultural dance performed in
bl L2 P S s A951
Options :
Assam

4699758241, % [/

Arunachl Pradesh
.';..l 5 *?Hl:‘ l
4699758242, % SeagSmles
Sikkim
Va

4699758243, #

Mizoram

"JL"":‘:
4699758244, ¥ B

Question Number : 112 Question Id : 4699752076 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Indian Manuscript that i1s in UNESCO’s Memory of World
Register is
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Options :



Mahabharata

4699758245, % et

Ra mayana

4699758246, % oW

Rigveda

&
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4699758247, ¢ =

Arthasastra

wl® 2
4699758248, % e

Question Number : 113 Question Id : 4699752077 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The first Indian to win Booker Prize 1s
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Options :
Kiran Desai

i Fagal i
4699758249, % DS

Salman Rushdie

ik U
4699758250, % Jam sl
Arvind Adiga
4699758251, % T VLY

Arundati Roy

- ‘:_1‘ i
4699758252, e A

Question Number : 114 Question Id : 4699752078 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The host country of G20 Summit 2023 1s
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el 28 2023 6020208
Options :
Canada

4699758253, % =g

South Korea
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India
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Brazil
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Question Number : 115 Question Id : 4699752079 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Purple frog is endemic to the
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Options :
Andes mountains , South America

o r'_"} .___n..[ If
2 recs Alas

4699758257. ®

Rock Mountains. USA and Canada
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4699758258. % =
Western Ghats, India

Js o1 A (3
4699758259, ¥ o "

Alps Mountain, Europe

4699758260. *



Question Number : 116 Question Id : 4699752080 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SWAYAM refers to :

re SWAYAM
Options :
Study World of Action Learning for Young Aspiring Minds

4699758261. # A e R ks TR I A0 A

Study Webs of Active Learning for Young Aspiring Minds

4699758262, ¥ uf"'i'"—-lf J'-L‘.J'-‘J-Jw v '*f._,r = a5 -

Study Webs of Action Learning for Young Agile Minds

. B2 3T Pt
4699758263, % A ke Vi Iy

4699758264, ¥

Question Number : 117 Question Id : 4699752081 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is the digital initiative for ‘Creating —
Digital Environment for Design?
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Options :
e- Kalpa
"4
I.}‘_V[

=

4699758265. ¥

¢- yantra

[ e 8]

4699758266. #

e-vidwan
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wilE}

4699758267, ®



e- Acharya

.-.u'L’-*r- :|
4699758268, ¥ =® TV

Question Number : 118 Question Id : 4699752082 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which Union Ministry launched the SHRESHTA scheme?

Options :
Ministry of Education

=

A hh
4699758269. ¥ = s

Ministry of Women and Child Development
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I
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4699758270. ® e g v

Ministry of Tribal Affairs
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4699758271, ¥

Ministry of Social Justice and Empowerment

4699758272, ¥ O AL L sl 2l bl e s

Question Number : 119 Question Id : 4699752083 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
STEAM Education 1s an amalgamation of :
< F 151~ STEAM
Options : .
School, Teachers, Educators, Administrators and Managers

o % - * | ~
3 e e pMe A e i
4699758273. ¥ o -

Science. Teachers EdllCdIlD]l Atts and Mdﬂ]Lll]d[lL‘}
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Students. Teachers. Education. Administration dll{] Management

of o2 AP Yoo A Wals
4699758275, % i Ll & i F

Science, Technology, Engineering, Arts and Mathematics

#h ,.‘,I.-’: _. o
B st ST g
4699758276. ¥ - 'H""ﬂ"’”..ln,.- et be b ¥ <)

Question Number : 120 Question Id : 4699752084 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In NEP -2020, what does ECCE refer to?
-3 2 ECCE_NEP -2020
Options :
Elementary Childhood Care and Education

5 I o kLA I L ai'
4699758277. ¥ I il 3 Lg"':""ﬂ: -

Early Childhood Care and Education

& . ;, ""_1 2 |
4699758278, ARl

Early Children Cdle and Eclucatlon

r"'.. f‘*' |ﬂ .-'.A-L;' 3.
4699758279, % Al ko

Elementary Chilclren care and Education
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Question Number : 121 Question Id : 4699752085 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following schemes have ﬂub%umed in Samagra Shil\'%ha ?
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Options :



Sarva Shiksha Abhiyan (SSA) and Rashtriya Uchchatar Shiksha
Abhiyan RUSA)

4699758281, * (RL]SA) L.JIL"{[U-’ ;Lﬂ?r.f r’"b;'f(SSA) UIL_.:{[L'_,

Sarva Shiksha Abhiyan (SSA), District Primary Education Programm
(DPEP) and Rdshtnyq Uchchatar Shlkshd Abhiyan (RUSA)

Iﬂr;; e fr ~/-r - <(SSA) g Pl fs

4699758282, ¥ (RUSA) é'.l:‘ﬁ:’wyﬂ'c’f’:f’ L.s(DPEP)

4699758283, ¥
Sarva Shiksha Abhiyan (SSA), Rashtriya Madhyamik Shiksha Abhiyan

(RMSA} and District Primary Education Programm (DPEP)
el Pl Lea o #15 « (SSA) @l ey

(DPEP) /s 1 518 A1,27 #5s(RMSA)

4699758284, ¥

Rashtriya Uchchatar Shiksha Abhiyan (RUSA), RMSA, Sarva Shiksha
Abhiyan (SSA) and District Primary Education Programm (DPEP)
(RMSA)ulzir” Lz ;:f'r;-c(RUSA] Bt )
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Question Number : 122 Question Id : 4699752086 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following launched as a part of “Digital India™ initiative to
provide digital ebook version of school books and other study materials to
school students throughout India?
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Options :
Swayamprabha
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Ebasta

4699758286, V'

r
B
o'

Sugamya pustakalaya

gL
4699758287, ¥ Sh
vidyadaan
1ol 2
4699758288, * -

Question Number : 123 Question Id : 4699752087 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following organization 1s concerned with the qualitative development
of school education in India ?
E'QQ-ELfL;i'TJQ':Lt ™ & d:l'/'fjgol:vu’f.g'us.if
Options :
University Grants Commission (UGC)

4699758289, % (UGC) = 'V (5.4

National Council for Educational Research and Training (NCERT)

£ I'-' -

= by i & - S = "&H*
[N(?ERT] ._J:-'J.-._*-;-;:.;X;LH i L] |_;|W L V'Ir’"*
4699758290. ¢

National University of Educational Planning and
Administration (NUEPA)

1699758201 % (NUEPA) Q::'I.r.»i’:',:lx;ljl}:uw' f:-l_jfj';-f;'uw

Indira Gandhi National Open University (IGNOU)

s

(IGNOU) § s = & ci it

*

4699758292, ¥

Question Number : 124 Question Id : 4699752088 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Digital divide is related to

o Sy 4 b h‘":..-
&
Options :

Cyber ethics

|b’[ ] .-
4699758203, & P12 v

Business ethics
4699758294, %

Medical ethics

L il = 6 -
4699758205, &  WIEWUm

Protessional ethics

g iILs =1 s &
4699758296, % Ut il st 2

Question Number : 125 Question Id : 4699752089 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following does RTE Act (2009) not Prohibit?
S E(2009) cLISILTI AL it
Options :
Mental harassment and physical punishment

4699758297, % L el (573

Screaming procedures for admission of children

Ff o )"/Fl':l Fl TR o
e 5] | ¥
4699758298, ¥ o et 4

4699758299. ¢
Free and compulsory education till completion of elementary education
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Running of schools with no recognition

y
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4699758300. ¥



Question Number : 126 Question Id : 4699752090 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following are the [Jeclagogical strategies proposed by NEP 20207
E'uﬂr;- (B8 '-’-6._--|-- L?V NEP r}UZO I*J"ru.-r u-.-'ﬂ § (W, UF Mot
Options :
Inquiry based learning, Storytelling pedagogies, Drill and Practice

& . W - . g
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4699758301. #

Inquiry based learning, Storytelling pedagogies, Discussion based
classrooms

- r-’“.-" fI_J'-' ‘”.-’"
4699758302, ¥ R

L"“q—-—rﬁ‘-—-u——L"uL‘I‘-ﬂ I(} -J J.Jir:Ll
4699758303, ¥
Inquiry based learning, Drill and practices, Discussion based classrooms
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Story telling pedagogies, Discussion based classrooms and Drill and
Practice
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-

4699758304, ¥ i
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Question Number : 127 Question Id : 4699752091 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of these output devices are most suitable for a person with

blindness?
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Options :
Text to speech, Key board and Magnifiers

yifroafln o T aR R L
4699758305. ® WV T SV LA P

Speakers, Braille Keyboard and Typoscope
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4699758306. ¥ = e 45



Braille Key board, Typoscope and Sub title
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|y‘
e m
L/ L nT.n-"' ."!|4r__.r,.- e Ad

4699758307. ¥

Speakers, Mouse and Subtitles

o

4699758308, % Al A

Question Number : 128 Question Id : 4699752092 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the aim of Education for Sustainable Development?
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Options :
National Understanding

B %

4699758309. # il

International Understanding

{”’7 u‘ll‘-
4699758310, % ™

Responsible thinking and acting

4699758311, ¢ IO~ VIS

Saving the Earth

5 [ M.
Vier oA s

4699758312, ®

Question Number : 129 Question Id : 4699752093 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

PARAKH guidelines are associated with
“':—"t.;ﬁ-"u"*ul';f: ‘f»'-:.-"l:_ﬂ

Options :
Improving gender equity

T OS]
4699758313, % ' o



Training of In service teachers

- ..a;-'(!'."l.r’rn_'-r"' S
4699758314, % RS €L

Assessment of Holistic development

Lol P
4699758315, ¢ : =

Evaluating mid-day meal scheme

s v*;l”' ok 84
4699758316, * IR AT A

Question Number : 130 Question Id : 4699752094 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following are the objectives of Rashtriya Uchchatar Shiksha

Abhiyan?
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1.  To improve the overall quality of State institutions
ot A e 2 L s G\
1. To ensure adequate availability of quality faculty
L.l:".ll_:"-{é “'!1{1? 3 A df:,?l/f.j Ve
1. To identify and fill eritical infrastructural gaps in Higher Education
e fote S s S 4 1f I Ak
iv. To downgrade universities with poor infrastructure into autonomous
colleges
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Select the correct answer from the codes given below:
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Options :

1699758317, ¥ (1),(11) and (111)

4699758318, % (1)- (111) and (iv)



1699758310, % (1).(11) and (iv)

« (1),(11) .(i11) and (iv)

4699758320.

Computer Awareness
Section Id : 46997570
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 46997584
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 131 Question Id : 4699752095 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which one of the following is not a network device?
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Options :
Router
4699758321, % vy
Switch
4699758322, ¥ b
Hub
4699758323, ® %
CPU
230

4699758324. ¥



Question Number : 132 Question Id : 4699752096 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of system software?
e ihr 1...-'Lf""_'-”._,l.*‘ S
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Options :

MS-word
;_._Iu:llr::f

4699758325, #

E-mail
A1
4699758326, % & ™

DOS

4699758327. ¢ I

Internet

G =]
il

4699758328. #

Question Number : 133 Question Id : 4699752097 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A group of eight bits is termed as..............
i (" o b -
e S LS

Options :
Byte

4699758329, ¢ T

Nibble
v
4699758330, ® it



Word
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4699758331, #
Digit
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4699758332.

Question Number : 134 Question Id : 4699752098 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Quick Heal, Norton, AVG, Smart Dog are the examples of......
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Options :
Antivirus

I Ala n’f-|

4699758333, ¢ et 2

Boot sector virus
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4699758334, % -

Worms

e |
4699758335, # b4

Trojan Horses
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4699758336, ¥

Question Number : 135 Question Id : 4699752099 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is a server on the Internet that holds web
documents?
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Options :



Web server
4699758337, ¢

Chat server

,j!/."_*.,lf?

4699758338, #
Mail server

VL

4699758339. #

Application server
P
4699758340, % R

Question Number : 136 Question Id : 4699752100 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Who i1s the co-founder of Apple computers who developed the touch
screen iphones?
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Options :

Steve Jobs

v'{ l:"" -':-:r I

4699758341, ¢

Bill Gates
A4

4699758342, ® - =

Steve Wozniak

4699758343, ® L Lisssr
Stevenson
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4699758344, ® o =

Question Number : 137 Question Id : 4699752101 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The term gigabyte refers to.....
i i 'ﬁﬂ-’-
S S ) o
Options :
The speed of computer

4699758345, #

The memory size of computer
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4699758346. ¥

Antivirus software

,./:!,_’..—*qu’}r:\_;’f'f

4699758347, ®

Network device

Dok .
OO i

4699758348, ¥

Question Number : 138 Question Id : 4699752102 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a computer hardware?
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Options :

i
4699758349, ® (b

MS Paint

A

4699758350, ¢
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Monitor

s
4699758352, * =

Question Number : 139 Question Id : 4699752103 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Dot-matrix 1s an example of which type of hardware resource?
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Options :

Tape
4699758353, % ¥~

Printer

L+
s o

4699758354, ¥

Disk

4699758355, ¥ =*

Bus

-

4699758356, ®# &7

Question Number : 140 Question Id : 4699752104 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

A Web page on internet is identified with a/an?

- L
¥ | - ia | e *
LS - = ik i
't"‘_-l,-:l."?vhl—-'-‘ V"-l'h,r'—-r"f;-l-‘-"-"'l
1] * -

Options :
IP address
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4699758357. #
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Protocol
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Filename
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Question Number : 141 Question Id : 4699752105 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which printer is commonly used for desktop publishing and it is also
very fast?
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Options :
Laser Printer
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4699758361. ¥ g

Ink-jet Printer

4699758362 ¥ fad e

Daisy wheel printer
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Drum printer
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Question Number : 142 Question Id : 4699752106 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following i1s NOT an example of application software?
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Google

L3

4699758365, ¥ =

Yahoo
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4699758366. #

MS office

Av
4699758367. &8 &~ ¥

DOS
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Question Number : 143 Question Id : 4699752107 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a word document, what 1s the mimmimum and maximum number of
columns that can be inserted in MS word table?
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Options :

2 and 10

_"!I
4699758369. ¥ 10,42

1 and 30

43l
4699758370. # 30 1

2 and 45

4699758371, 8 A2 12

1 and 63

4699758372, 03 211
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Question Number : 144 Question Id : 4699752108 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the smallest and largest font size available in font size tool in
MS Word?
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Options :

4 and 72

4699758373, # 72,414

8 and 72

4699758374, ¢ 1218

6 and 72
4699758375, % 12416

8 and 74

FLL
4699758376, ® 74418

Question Number : 145 Question Id : 4699752109 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The 18 a toolbar in Microsoft Word and Microsoft Excel,
that gives the user the ability to change the formatting of selected text.
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Options :
Formatting

4699758377. ¢ oy
Standard

4699758378, % /AL

Drawing

::FI-J:
4699758379. ® 13



Object
4699758380, % .

Question Number : 146 Question Id : 4699752110 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the minimum zoom percentage supported by MS Word?
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Options :

4699758381, % D%

4699755382, v 1070

5%
4699758383, # [5%

NS0 i
4699758384, # 25%

Question Number : 147 Question Id : 4699752111 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A light sensitive device that converts drawing, printed text and images
into digital format is known as.. ...
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Options :
Scanner

-

4699758385, v
Printer
4699758386, ¥ %

Keyboard
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Plotter
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4699758388. ¥ ¥

Question Number : 148 Question Id : 4699752112 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is open source software?
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Options :
Acrobat reader
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4699758389, %
MS word
4699758390. # _s;'fuu|r,‘:|

Mozilla Firefox

a9
4699758391, ¥ BBtk s

Windows XP

4699758392, % XPiss

Question Number : 149 Question Id : 4699752113 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is the decreasing order of storage capacities of
external disk?
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Options :

USB, DVD, CDROM
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CDROM, DVD, USB
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DVD, USB, CDROM

4699758395, ® [ V-

4699758396. #

Question Number : 150 Question Id : 4699752114 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What does SMS stand for?
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Options :
Short Mobile Service
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Short Media Service
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Short Message Service
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